

Collins Sarima Lennenda
19/sci01/034

9

1a $y = \sin \frac{3}{x^2}$
 $u = \frac{3}{x^2} = 3x^{-2}$
 $\frac{du}{dx} = -6x^{-3}$

$$y = \sin u$$

$$\frac{dy}{du} = \cos u$$

$$\frac{dy}{dx} = \frac{du}{dx} \times \frac{dy}{du}$$

$$= -6x^{-3} \times \cos u$$

$$= -6 \cos u x^{-3}$$

Recall $u = \frac{3}{x^2}$
 $= \frac{-6 \cos \frac{3}{x^2}}{x^3}$

b $y = \frac{4}{x^3}$

$$y + \Delta y = \frac{4}{(x + \Delta x)^3}$$

$$y + \Delta y = \frac{4}{x^3 + 3x^2(\Delta x) + 3x(\Delta x)^2 + (\Delta x)^3}$$

$$\Delta y = \frac{4}{x^3 + 3x^2(\Delta x) + 3x(\Delta x)^2 + (\Delta x)^3} - y$$

$$\Delta y = \frac{4}{x^3 + 3x^2(\Delta x) + 3x(\Delta x)^2 + (\Delta x)^3} - \frac{4}{x^3}$$

$$= \frac{4x^3 - 4x^3 - 12x^2\Delta x - 12x(\Delta x)^2 - 4(\Delta x)^3}{x^3 + 3x^2(\Delta x) + 3x(\Delta x)^2 + (\Delta x)^3} (x^3)$$

$$= \frac{-12x^2\Delta x - 12x(\Delta x)^2 - 4(\Delta x)^3}{x^3 + 3x^2(\Delta x) + 3x(\Delta x)^2 + (\Delta x)^3} (x^3)$$

$$\frac{\Delta y}{\Delta x} = \frac{-12x^2\Delta x - 12x(\Delta x)^2 - 4(\Delta x)^3}{x^3 + 3x^2(\Delta x) + 3x(\Delta x)^2 + (\Delta x)^3} (x^3) \times \frac{1}{\Delta x}$$

$$= \frac{-12x^2 - 12x\Delta x - 4(\Delta x)^2}{x^3 + 3x^2(\Delta x) + 3x(\Delta x)^2 + (\Delta x)^3}$$

$$\begin{aligned} \lim_{\Delta x \rightarrow 0} \frac{dy}{dx} &= \frac{-12x^2 - 12x(0) - 4(0)}{x^6 + 3x^5(0) + 3x^4(0) + x^3(0)} \\ &= \frac{-12x^2}{x^6} \\ &= \frac{-12}{x^4} \end{aligned}$$

$$2a \int \frac{dx}{x^2 + 36} = \int \frac{1}{x^2 + 36} dx$$

$$\int \frac{1}{36 \left(\frac{x^2}{36} + 1 \right)} dx$$

$$\frac{1}{36} \int \frac{1}{\left(\frac{x}{6} \right)^2 + 1} dx$$

$$= \frac{1}{36} \int \frac{1}{u^2 + 1} \cdot 6 du$$

$$= \frac{1}{36} \cdot \frac{6}{1} \int \frac{1}{u^2 + 1} du$$

$$= \frac{1}{6} \int \frac{1}{u^2 + 1} du$$

$$= \frac{1}{6} \tan^{-1} u$$

$$= \frac{1}{6} \tan^{-1} \frac{x}{6} + C$$

$$\begin{aligned} u &= \frac{x}{6} \\ du &= \frac{1}{6} dx \\ 6 du &= dx \end{aligned}$$

$$2b) \int \frac{dx}{x^2+13} = \int \frac{1}{x^2+13} dx$$

$$\int \frac{1}{13\left(\frac{x^2}{13}+1\right)} dx$$

$$u = \frac{x}{\sqrt{13}}$$

$$du = \frac{1}{\sqrt{13}} dx$$

$$= \frac{1}{13} \int \frac{1}{\left(\frac{x}{\sqrt{13}}\right)^2+1} dx$$

$$\sqrt{13} du = dx$$

$$= \frac{1}{13} \int \frac{1}{(u)^2+1} \sqrt{13} du$$

$$= \frac{1}{13} \cdot \sqrt{13} \int \frac{1}{u^2+1} du$$

$$= \frac{1}{\sqrt{13}} \int \frac{1}{u^2+1} du = \frac{1}{\sqrt{30}} \tan^{-1} u$$

$$= \frac{1}{\sqrt{30}} \tan^{-1} \frac{x}{\sqrt{30}} + C$$